Chapter 20 Consolidated Income Statement

Answer 1
	
	$000

	Turnover (3,200 + 2,560 – 600)
	5,160

	Cost of sales (2,200 + 1,480 – 600 + 30 (unrealized profit) + 10 (fair value depn))
	(3,120)

	Gross profit
	2,040

	Investment income (external only)
	-

	Distribution costs (160 + 120)
	(280)

	Administrative expenses (400 + 80 + 40)
	(520)

	Profit before tax
	1,240

	Taxation (400 + 480)
	(880)

	Profit for the year
	360

	
	

	Attributable to:
	

	Group
	290

	Non-controlling interests (W1)
	70

	
	360


	W1 Non-controlling interest
	$000

	NCI share of subsidiary’s profit for the year ($400 x 20%)
	80

	Less:
	

	NCI share of impairment (20% x $40)
	(8)

	NCI share of fair value depreciation (20% x $10)
	(2)

	
	70


Answer 2

	
	$

	Turnover (31,200 + (9/12 x 10,400) – 4,400)
	34,600

	Cost of sales (17,800 + (9/12 x 5,600 + 375 – 4,400 + 175(W2))
	(18,150)

	Gross profit
	16,450

	Operating expenses (8,500 + (9/12 x 3,200) +80 (W3))
	(10,980)

	Profit from operations
	5,470

	Investment income (2,000 – 350)
	1,650

	Profit before tax
	7,120

	Tax (2,100 + (9/12 x 500))
	(2,475)

	Profit for the year
	4,645

	
	

	Attributable to:
	

	Group
	4,586.5

	Non-controlling interests
	58.5

	
	4,645


	W1 Fair value depreciation
	

	= $5,000 x 1/10 x 9/12 = $375
	


	W2 Unrealised profit in inventory
	

	= $500 x 35% = $175
	


W3 Impairment of goodwill

= $800 x 10% = $80

W4 Dividend
= $500 x 70% = $350

	W5 Non-controlling interest
	$

	NCI share of sub’s profit for the year (30% x (9/12 x $1,100))
	247.5

	Less:
	

	NCI share of fair value depreciation (30% x $375 (W1))
	(112.5)

	NCI share of unrealized profit in inventory (30% x $175 (W2))
	(52.5)

	NCI share of impairment (30% x $80 (W3))
	(24)

	
	58.5
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